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2 hiE Kt PANG I E o 38 38 36 34 146
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4T FEZ R fif] LI 28 38 37 38 35 148
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1T ZL EN KE 41 39 37 35 152
11T B fBE £HIY 41 38 37 36 152
1T Fih &3l =R 38 37 37 40 152
14T 2 This 1—hA"—) 37 42 39 36 154
14T INER ERA =R 38 41 38 37 154
14T =H 58 =R 40 38 35 41 154
14T by & L& 39 38 37 40 154
14T il FO¥E B2 39 37 39 39 154
14T AE Rt £HIY 37 36 41 40 154
20T R BiE 4yny7 41 41 36 37 155
20T mmE EX hIuhE=4 42 38 36 39 155
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20T = H hiE U 39 36 42 38 155
25T EAR E— B 43 41 36 36 156
25T xR 2 e 41 41 39 35 156
25T ®Bik BE YRDIVP 38 42 39 37 156
25T INIL BEME L& 38 40 40 38 156
29T ERRK XK ayny7’ 45 39 38 35 157
29T Mg RE hIubE=9 42 40 39 36 157
29T AFH EiE 4yay7 46 36 38 37 157
29T R #E= -k 41 39 40 37 157
29T Bl BE L= 45 34 40 38 157
29T R 3 JtmE 36 42 43 36 157
29T =@ FEh s 39 39 38 41 157
29T L PA Y= ML-DRYY 39 38 42 38 157
37T A+ b £HDY 45 41 35 37 158
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31T WE &% BE 42 41 38 37 158
37T &k EF| < EREE 40 41 39 38 158
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37T =H 5hF VA4—R 36 40 45 37 158
43T fAIER & = 47 44 34 34 159
43T Fi BA e 40 43 40 36 159
43T JIlg 22PE = 41 42 38 38 159
43T B8 =ER ANTANT 46 36 38 39 159
43T EEEIE d#pE 41 40 41 37 159
43T NE BB HE/& 43 37 39 40 159
49T BIE ERA ZEHE 40 44 37 39 160
49T wH S8 R 40 39 40 41 160
51T ZEH RiE 4yay7 42 46 36 37 161
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51T BAX X+t £HIY 41 42 41 37 161
51T INE BE TAE=R 46 37 40 38 161
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81T 5% 5 EEHL-) 39 42 44 40 165
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87T NI E— =Lk 43 45 39 39 166
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110T mig XS HBERmE 40 43 43 45 171
113T HHE g KE/& 46 51 33 42 172
113T FaE ZBH 7=+ 46 47 40 39 172
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19T B EER 7< B =R 41 37 78
19T =@ & =R 40 38 78
19T Sl EE R 39 39 78
19T 3K e 36 42 78
26T wH S8 RR 40 39 79
26T B BEH R 39 40 79
26T B2HF ThiE I—k=) 37 42 79
26T INER ERA R 38 41 79
26T Bl BR e 45 34 79
26T B EE LAY 41 38 79
32T fL E=E HEIRDFE 39 41 80
32T ®RE BaE bA-TRYY 38 42 80
32T mE EX bIuhE=h 42 38 80
32T ic i [ - J—Ih 41 39 80
32T ZL BN KB 41 39 80
32T ¥ E£E KN 7 40 40 80
32T BK RE A= 42 38 80
32T WiE EER RE/& 43 37 80
32T B ¥ BEEZiHL-) 42 38 80
4T BER EHA YAE—R 39 42 81
41T 5% B EEiHL-) 39 42 81
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52T BRE EiE 4yay7’ 41 41 82
52T Mg BE DI ] 42 40 82
52T WH % 7%/ 40 42 82
52T =8 &= ANTANY 46 36 82
52T A EiE 4yay7° 46 36 82
52T He Hh e 36 46 82
52T =8 K RA KR 43 39 82
61T WE &F 7:/$ 42 41 83
61T JIlig 22PE [T 41 42 83
61T FAE EA LmF 40 43 83
61T TR BE KErn'7 42 41 83
61T BAX X+ £HOY 41 42 83
61T IEE SN yNUva 42 41 83
61T FZF A 1E[El R 41 42 83
61T INE BRE YAE—R 46 37 83
61T mig XS BERmR 40 43 83
61T & B 7<= 41 42 83
71T ;A0 HEsh <AL 42 42 84
71T AT fr =Ih 44 40 84
71T EH E—E B 43 41 84
1T WX BEF BERmR 44 40 84
1T AIE ERA ZR¥AE 40 44 84
T R S £HSY 41 43 84
1T INES TREN YAA—R 43 41 84
71T bR —t = 40 44 84
71T SATEF thOR 1E B ER 44 40 84
71T JIfE IEZE £HOY 41 43 84
71T Ei EFH RR 44 40 84
1T AH FiE £#HIY 43 41 84
71T T #EF bIuNE-4 43 41 84
71T ERK XK 4'yay7 45 39 84
85T EERE BERm 43 42 85
85T =0 'K e 43 42 85
85T He Bt ANTANY 43 42 85
85T M EX KB 47 38 85
85T EH & RE/ & 45 40 85
85T e &R BERR 41 44 85
85T BEAR F— 71/ 43 42 85
92T JKIE {FE0ER 7B =R 41 45 86
92T EiH = e 43 43 86
92T m ER 71/ 44 42 86
92T il =i BERR 45 41 86
92T TR VDI ) 43 43 86
92T EEE = 44 42 86
92T BN BER BiE 46 40 86
92T I BASL e 43 43 86
92T At B £HIY 45 41 86
92T A FEff e 47 39 86
102T L#EE = YAE-R’ 45 42 87
102T =H % e 43 44 87
102T BK BN BEFE 47 40 87
102T fRE % RABKIER 46 41 87
102T AGRH RE J—Ih 39 48 87
102T wiE Kt B —HAh 42 45 87
102T A B+ RR 47 40 87
102T A BaE bIuNE=4 43 44 87
110T B G I-hA—) 44 44 88
110T RE FH =0 46 42 88
110T NI E— -k 43 45 88
110T B3R mz =0 50 38 88
110T AiE MtH = 45 43 88
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110T E BE Lt E 44 44 88
110T BHR IEE [T 43 45 88
110T EH RiE 4yay7" 42 46 88
110T 2R FX KXF 45 43 88
110T B B 1—pA—)) 44 44 88
120T HEE KM e 41 48 89
120T Kl HWE ANTANY 45 44 89
120T 2l BE— 439 %=h 47 42 89
120T ik =P Nz St 47 42 89
124T ARER s e 45 45 90
124T b8 B5E yNUwa 42 48 90
124T w®H (& D—Juh 47 43 90
124T dEE O R ERE 45 45 90
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134T FE EA J—hA"—)L 46 46 92
134T BE Z— ZeH 46 46 92
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137T bt {E—ER LAY 44 49 93
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137T PN )i K7 46 47 93
137T EX ¥ e 50 43 93
137T X BAfE KERNT 47 46 93
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143T WEH Hm E3FES 51 44 95
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143T BE ME YAE—R 46 49 95
148T BIELIK IVAN = 52 44 96
148T bl KE 52 44 96
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151T ¥8 Y H KF 45 52 97
151T HHE f#— RE/ & 46 51 97
153 i _B=x jl:?ﬁ!ﬁ 54 44 98
154 E.:EE FERER Hkd 47 54 101
155 =ZER IE a%‘[sjcﬁ 55 50 105
156 /MA ,n_ = 50 56 106
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NR BIE JE—ER AR — - —
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